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1 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 5.52 68.96 | =S | 0.00 ~ 0.00 | 1.58 8.44 Thlst 1.00 | 5.00 ~ 6.54 68.96 | Th4 | 5,00 ~ 6.54 | 1.58 8.44
2 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 5.78 72.27 | #hLS | 0.00 ~ 0.00] 1.61 8.62 Thlst 1.00 | 5.00 ~ 6.78 72.27 | #hRHN | 5,00 ~ 6.78 | 1.61 8.62
3 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 5.78 72.24 | =04 | 0.00 ~ 0.00| 1.61 8.62 Thlst 1.00 | 5.00 ~ 6.78 72.24 | #hH | 5,00 ~ 6.78 | 1.61 8.62
4 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 6.30 79.13 | #hLs | 000 ~ 000 1.71 9.15 Thlst 1.00 | 5.00 ~ 7.37 79.13 | #hH | 5,00 ~ 7.37| 1.71 9.15
5 100kN/mM%#BZ 5 — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 6.25 7851 | #nL4t | 0.00 ~ 0.00 | 1.68 9.01 Thlst 1.00 | 5.00 ~ 7.34 78.51 | #hS | 5,00 ~ 7.34 | 1.68 9.01
6 100kN/mM%#BZ 5 — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZS - ~ — — —
s 1.00 | 0.00 ~ 6.29 7898 | #n L4t | 0.00 ~ 0.00| 1.567 8.43 Thlst 1.00 | 5.00 ~ 8.07 78.98 | #hH | 5,00 ~ 807 | 1.57 8.43
” 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%#8% % — -~ — — |3mZEBZ S - ~ — — —
FhLst 1.00 | 0.00 ~ 6.34 79.75 | =L | 0.00 ~ 0.00)| 1.64 8.78 Fhst 1.00 | 5.00 ~ 7.68 79.75 | Fhs | 500 ~ 7.68 | 1.64 8.78
P 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 6.33 79.53 | =4 | 0.00 ~ 000 1.71 9.13 Fhst 1.00 | 5.00 ~ 743 79.63 | Fhs | 5,00 ~ 7.43 | 1.71 9.13
9 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 5.64 70.48 | #hLst | 0.00 ~ 0.00] 1.61 8.63 Fhst 1.00 | 5.00 ~ 6.53 70.48 | Fhst | 5,00 ~ 6.53 | 1.61 8.63
10 100kN/MZ#8Z % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%Z#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 5.64 70.48 | #hLst | 0.00 ~ 0.00] 1.61 8.63 Fhst 1.00 | 5.00 ~ 6.53 70.48 | Fhst | 5,00 ~ 6.53 | 1.61 8.63
11 100kN/MZ#8Z % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%Z#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 4.52 56.39 | =nst | 0.00 ~ 0.00]| 1.567 8.38 Fhst 1.00 | 5.00 ~ 5.00 56.39 | Thst | 5,00 ~ 5.00| 1.567 8.38
100kN/MZ#8 2 % ~ 3mEEZD ~ 100kN/mM%E#BZ 5 ~ ImEBZD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
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Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
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Ths ~ zhLst ~ ZzhLst ~ Ths ~
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